
No. of Printed Pages : 11 

BACHELOR OF SCIENCE 

Term-End Examination 

December, 2013 

LIFE SCIENCE 

LSE-05 

 

LSE-05: PHYSIOLOGY 
Time : 1 hour 	 Maximum Marks : 25 

Note : Use separate answer sheets for Part-I and Part-IL Be 

brief and precise in your answers. Draw neat and labelled 

diagrams wherever necessary. 

PART-I 

ANIMAL PHYSIOLOGY 

Note : 	Question No. 1 is compulsory. Attempt any 
four questions from question no. 2 to 6. 	1/2x4=2 

1. 	(a) Fill in the blanks 

(i) Sinoatrial node is the 
the heart. 

(ii) 	 cells are responsible for 
the formation of myelin sheath in 
Peripheral Nervous System. 

(iii) The temperature at which 50% of 
animals die and 50% survive is termed 
as 	temperature. 

(iv) A rasp - like structure known as 
	is used by Gastropods for 

feeding. 
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(b) Expand the following : 	 1/2x2=1 

(i) P.S.P. 

(ii) A.C.T.H. 

(c) Give reasons as to why the Gut lining is not 	2 
digested. 

2. (a) Describe with the help of a diagram, 	3 
oxygen-haemoglobin dissociation curve. 

(b) Explain the conduction in myelinated 	2 
axons. 

3. (a) Name and give one function each of any 	2 
two hormones secreted by the anterior lobe 
of pituitary gland. 

(b) Draw a flow chart to show the role of 	3 
hormones in the moulting and development 
of insects. 

4. (a) Explain briefly how the kidney function is 	3 
regulated by renin-angiotensin system. 

(b) What is the role of "salt glands" in osmo- 	2 
regulation ? 

5. Define haemostasis and explain the clotting 	5 
mechanism in humans. 
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6. 	Write short notes on any two : 	 21/2+21/2=5 
(a) Estrous cycle 

(b) Carbohydrate Digestion 

(c) Sliding filament model for muscle 
contraction. 

(d) Physiological thermoregulation in 
poikilotherms. 
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	Q. no. 7 is compulsory. Attempt any four questions 
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PART-II 
PLANT PHYSIOLOGY 

1x5=5 
. 	(a) Fill in the blanks (attempt any five parts). 

(i) Movement of water through cell to cell 
via plasmodesmata is called 
	 pathway. 

(ii) 	maintains turgidity of the 
plant cells. 

(iii) 	 is the enzyme that fixes 
CO2  during photosynthesis. 

(iv) Biologically active root nodules are 
	 in colour. 

(v) 	 is used to kill weeds in 
wheat and rice fields. 

(vi) 	 are plants which are able 
to grow in high salt concentration. 

(vii) 	 is the chromoprotein 
which receives the stimulus for flow-
ering. 
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8. (a) Name any two macronutrients and describe 
the functions of each. 

(b) What is biological nitrogen fixation ? What 
is the role of heterocyst in Nostoc and leg 
hemoglobin in the nodules of 
legumes ? 

9. 	(a) Explain the structure of phloem elements 
With the help of a labelled diagram. What 
are the functions of its different type of 
cells ? 

(b) Define stress. What situations lead to Bio-
logical stress ? 

10. (a) What is transpiration pull ? Discuss the 2 
theory that explains Ascent of sap. 

(b) Name the hormones involved in : 	2 
(i) turnings of oat coleoptile towards uni-

lateral light. 
(ii) bolting in long day plants 
(iii) fruit ripening 
(iv) growth inhibition 
(v) shoot and root development in callus. 

11. Describe Z scheme of photosynthesis with the help 
of a suitable diagram. 

12. Write short notes on any two of the following : 
(a) Photorespiration 
(b) Photoperiodism 	 21/2x2. 

(c) Senescence 
(d) Stomatal Movement 
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